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(count-change 11)

vy

(cc 11 5) (else

(+ (cc amount (- kinds-of-coins 1))

(cc (- amount (first-denomination
kinds-of-coins))
kinds-of-coins)))))

else +

invalid coin sequence, return 0

(cc 11 4) (cc (11 - 50) 5)

or
(cc -39 5)

invalid coin sequence, return O

else +

(cc 11 3)

else +

the second recursive call within the
else clause finds a denomination that

fits within the amount (namely, a
dime) reducing the amount to 1 cent

(cc 11 1) (cc 13)
(cc 6 2)
(cc6 1) | invalid coin sequence, return 0
else + eISe &
Kinds of coins has reached 0. We are else
out of types of coins to try. So return O

else +
(cc 11 0) (cc 10 1) (cc12) (cc -11 3)
Kinds of coins has reached 0. We are

out of types of coins to try. So return 0

— —
else +

invalid coin sequence, return 0
else +
: : else +
Kinds of coins has reached 0. We are (CC 1 2)

out of types of coins to try. So return 0 Kinds of coins has reached 0. We are
out of types of coins to try. So return 0 (cc11) (cc -4 2)

-(cc 41)

(cc 50)

-else + -else +
valid coin sequence (we have 0
invalid coin sequence, so return O Kinds of coins has reached 0. We are out of amount left), so return 1
else + clse + types of coins to try. So return 0

Kinds of coins has reached 0. We are (CC 1 1) (CC -4 2) (CC 1 O) (CC 0 1)
out of types of coins to try. So return O

(cc 9 0) (cc8 1) e 40 (cc 3 1)
Kinds of coins has reached 0. We are
out of types of coins to try. So return 0 else +
valid coin sequence (we have 0

else + amount left), so return 1
Kinds of coins has reached 0. We are else +
out of types of coins to try. So return O

Kinds of coins has reached 0. We are
(cc 8 0) (cc71)

Kinds of coins has reached 0. We are
out of types of coins to try. So return O

out of types of coins to try. So return 0 (cc10) (cc01)

else +
: . . . else +
Kinds of coins has reached 0. We are Kinds of coins has reached 0. We are

out of types of coins to try. So return O out of types of coins to try. So return 0

(cc 7 0) (cc6 1)

Kinds of coins has reached 0. We are |
. else +
out of types of coins to try. So return 0
else +

Kinds of coins has reached 0. We are

out of types of coins to try. So return O valid coin sequence (we have 0

amount left), so return 1

(cc 6 0) (cc51)

(cc 5 0) (cc41)

(cc 10) (cc01)

Kinds of coins has reached 0. We are
out of types of coins to try. So return O

else +

Kinds of coins has reached 0. We are
out of types of coins to try. So return 0

else +

Kinds of coins has reached 0. We are
out of types of coins to try. So return O

(cc 3 0) (cc 2 1)
Kinds of coins has reached 0. We are else +

out of types of coins to try. So return O

else +

Kinds of coins has reached 0. We are

out of types of coins to try. So return 0 valid eoinisequence (weidve 0

amount left), so return 1

(cc 10) (cc01)



